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sensors \ crossover T crossover T2 turnout T3 D5
track1 DI \ \ i';koo_l signal 3 450k 3
signal 1 \ \ D3
signal 4
track 2 D2 w O0°9 track 4
signal 2 D4 ™
This electrical contact (switch) is linked to TS5
one of the turnouts at either end of crossover T1. —  —a Norm turnout
This electrical contact is linked to T1 /O; Rev Inputs X [G0 <‘
one of the turnouts at either end of crossover T2. ———T1 Y
These contacts should close, connecting their T tem Norm /00

when their turnout is lined for the crossover (Reverse position).

v
>0—— Rev
They should open when their turnout is lined for the straight- T2 = &V
through track (Normal position). Norm

T2

TS5
track config
jumper placed
across both

v
T3 0—— |Rev X pins
This electrical contact is linked to turnout T3. — = o A——T3 P
The contact should close, connecting terminal T3 to C, C
when the turnout is in the diverging (Reverse) position.
It should open when the turnout is in the Normal position.
track 2 Dy  Crossover T2 \ / crossover T1 - OO—]signal 4  track 4
AT
signal 2 OO 4 y D4
track1 D1 \_MO'O_I signal 3 track 3
. W
signal 1 FOO D3
J turnout T3 /

signal 5 rack 5
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Planning template, scissors crossover sensors —>

with branch from track 3.
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track 1 D1 , crossoverTl \ e crossover T2 - OO signal 3 track 3
A
signal 1 OO Y Y D3
track 2 D2 ‘_,\,,O'O_I signal 4 track 4
W
signal 2 FOO D4
J turnout T4 /4 _
signal 5 ¢rack 5
sensors —> D
This electrical contact (switch) is linked to TS5
one of the turnouts at either end of crossover T1. —  —= Norm t_urnotut X 158
This electrical contact is linked to /O; Inputs
one of the turnouts at either end of crossover T2. Tl T/ Rev Tl Y
These contacts should close, connecting their T tem Norm /00
when their turnout is lined for the crossover (Reverse position). v TS5
, - . T2 »O—— Rev .
They should open when their turnout is lined for the straight- —T2 _track config
through track (Normal position). Norm jumper placed
v across both
T4 =O0—— Rev X pins

oL LS,

This electrical contact is linked to turnout T4, — = o

The contact should close, connecting terminal T4 to C, C
when the turnout is in the diverging (Reverse) position.

It should open when the turnout is in the Normal position.
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sensors \ crossover T2 crossover T1 turnout T4 D5
track 2 D2 \ \ _MOO_I signal 4 track 4
2,
signal 2 \ \ D4
signal 3
track 1 D1 vy 0,0 track 3
signal 1 D3

Planning template, scissors crossover
with branch from track 4.
Azatrax, (c) 2019



